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Q1. Use the number strip to find the Sum of the given numbers. Colour the answer 

boxes with four different colours.   

 

 

 

a) 51 + 5 =        b)   56 +  5  =   

 

c) 60 + 3 =        d)   53 +  7  =  

 

Q2. Read each statement and tick the correct answer.  

a) The sum of 3000 and 1500 is 

 

 
 

 
b) When we add 0 to 4555, we get 

 

 

 

c) 1000 taken away from 7060 is equal to  

 

 

51 52 53 
63 62 61 60 59 58 57 56 55 54 

   

1500 4000 

4505 4545 4555 

8060 6060 7660 

4500 
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Q3. Solve the sums written on the pictures of the balloons given below. Colour 
these balloons as instructed. 

RED for answers less than 3000, GREEN if the answer is 3000, YELLOW if the 
answer is more than 3000. 

 

 

 

 

   

 

 

 

 

Q4. Fill in the blanks with the correct answer. 

a. 7000 + 6 = _______ 
 

b. 8050 – 50 =________ 
 

c. 8,799 is 1 less than _______ 
 

d. 8000 – 7000 = ______ 
 

e. 8999 + 1 = __________ 
 

f. 1000 more than 6500 is _________. 
 

g. I had 500 rupees in my Piggybank.  I got 3,500 rupees for my birthday. Now I have 
____________ rupees in my Piggybank. 
 

h. The answer in addition is called the _________. 
 

i. We always subtract a _________ number from a __________ number.  
 

j. The answer we get in subtraction is called the ______________. 
 

 

   1 3 0 0 

+    5 7 6 

3 2 7 5             

-  2 8 5 

   2 9 8 5 

 +      7 6 
 

2992 + 8 

= 



 

ISWK-Primary/Department of Mathematics (2022-2023) 

  
 

P
ag

e3
 

Q5. Read the word problems carefully and state whether addition or subtraction 
should be done to find the answer. Put the correct sign (+ or -) in the box. 

a) 40 passengers were travelling in a bus. 6 more got on the bus.  How many passengers 
are there on the bus now?  

  
b)  Rahul is 15 years old and his sister is 23 years old.  What is the difference in their age? 
 

c) Sandra and her friends sold their artwork to collect money for charity. They collected 
₹ 3000 on Saturday and ₹ 6400 on Sunday.  What is the total amount collected?  

 

d) To build a Toy tower, 200 pieces of Lego blocks are required.  Sam has only 175 pieces.  
How many Lego pieces is he falling short of? 

 

Q6) Fill in the missing digits to make the answer correct. 

 

 

 

 

a)  H T O  b)  H T O  c) H T O 

 2 4 5   4 4 4   3 0 9 

      3 3 6   1  9 

 9 7 5         8  
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